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lll Semester B.Com. Examination, November/December 2018
(Semester Scheme) (CBCS) (F + R) (2015-16 and Onwards)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - I
Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in
English or in Kannada.

SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
2 marks. (5%2=10)
a) What is a linear correlation ?
b) What are the regression lines ?
c) State the components of time series.
d) Expand (y —1)°>=0.
e) What is sampling distribution ?
f) What do you mean by population of universe ?
g) What are independent events ?
SECTION - B
Answer any three of the following questions. Each question carries 6 marks.
(3%x6=18)
2. Find the rank correlation for the following data and give your comments :
Marks in Accounts (X) : 84 | 56| 89| 58| 59 | 67| 74| 78
Marks in Maths (Y) : 38 |..691 56.|..58.|.:638: had8i B |77
3. You are given the following data :
Variables X Y
Mean 47 96
Variance 64 81
Correlation co-efficient 0.36
between X and Y :

Calculate the regression line X on Y and also calculate X when Y = 88.

4, Interpolate the exports made in 2014 from the following using Binomial
expansion method.

Year

2012

2013

2014

2015

2016

2017

Exports (Crores )

210

230

?

280

300

350

P.T.O.
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5. What are different non-probability sampling techniques ?
6. The probability of an Indian having a car is 26%, the probability of Indian having

a house is 40%. The probability of Indian owning a car and a house is 18%.
What is the probability that Indian owns a car or a house ?

SECTION -C
Answer any three of the following question. Each question carries 14 marks.
(3x14=42)
7. From the following table, find out Karl Pearson’s co-efficient of correlation
between age and reading habits of students.

Age : 15 16 17 18 19 20
No. of students : 250 200 150 120 100 80
Regular Readers : 200 150 90 48 30 12

8. From the following data :
a) Calculate two regression equations.
b) Estimate the value of X when Y = 80 and Y when X = 90.

c) Determine the value of correlation co-efficient through the regression
co-efficients. :

X 40 48 52 68 72
¥ 20 24 28 36 52
9. The following are the annual profits of a certain business.
Year’s 2011 | 2012 | 2013 2014] 2015] 2016 2017

Profits (in’000’s) 65 77 80 70 85 90 100
a) Fit a straight line trend to these figures by the method of least squares.
b) Estimate the profit for the year 2021.

c) Plot the actual and trend values on a graph.

10. Estimate the steel production for the year 2013 and 2015 with the help of the
following table :

Year : 2010 | 2011| 2012 | 2013 | 2014 | 2015 2016

Steel Production
(in 000 tonnes)

150 180 220 ? 330 ? 450

11. The following are the annual premium charged by an Insurance company for
a policy of Rs. 1,000. Estimate the premium payable at the age of 26 by using
Newton’s method.

Age (in years) 20 ok = = =
Premium (3)
(for % 1,000 policy) 283~ 26380 | 35 42
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1. 39N cInaymeEte B 6uE FIReR vugor. B woE T Ao eovrd.  (5%2=10)
a) wotie D3Q BRI (OEAOWT®) RBHOLIOT DOTTEI ?
b) &023e03 BesdndorsSesd 2 '
c) RSO0 B30 OBNYY, SR
d) am=) 508 (y—1)°=0.
e) [NWO VTTF OTTERD 7
f) it eRdnessnd Faems errsed ?
9) B30, P DoTTE ?
QTN — W
395008 CIRTETR FNT TINIR LwZor. T TIN T 03T, (3x6=18)
2. 39508 QWINPT Jeed A% AOWOTIHT BORERROWO 3 3,509, QR.
&3%%2"55@1&3 eoznsd (X) : 84 | 56| 89 58 it e e s Tl B b U
ﬁs*éém%d@ﬁ woznsd (Y):| 38| 69| 56 58 63 L 8L 871 LI
3. ZRort 9N LFTMIRY, VeBeRNT -
30 X Y
jeprite) 47 96
zpajté 64 81
XZRY nv S@008 Amgows 636
BT :

X e Y I HoBodod ﬁémeﬁdsaﬁs:g FoBIGLROWY, Torodde, Y = 88 wﬁm'%ﬁ, X3

BS0DR) BomEBOWE.

4. 93 DTOMPOR MRLEDE’ HFOR OMIBE, 2014 Fe FRFH TPy FoREEWR.
oA 2012 2013 | 2014 2015 2016 2017
d@ R0 TR, neY. 210 230 ’ 280 300 350

5. RowRReon3oher Ha% SRE0 203RE: IR 7

6. 0.2, TROIOLR TURY FPoOTR RosRecDS Fea 26, Boch, Fpond=
RofmReons Fe8@ 40. T0R) TR o8 F0RIR BRCOTR Ropsdechs Seiz 18,

BINTO LTI FoTD e B0 BR0NTIR BoLRRecB030eR0 9
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: QTN = X
FPBOR CINT)TIOTRTH AT TIROR wvgon. B8 TIR BOTL, @osNEd. (3x14=42)
7. 89803 Bedo0oT OTPFNCOT SR BB LB DAL QTE RBROWOT

RBRILBTI) T F LODT RIS PSR, FoRBOWD.

sﬁaﬁamﬁ 15 16 7 18 19 20
VTR Tos, 250 200 150 120 100 80
QOS2 200 150 90 48 30 12
8. EoRE [TNYoT ;
a) A0 &oORoD :dmeﬁdsarf@a'igt FOTOGROD.
b) Y =80 2wt X 8 3oy 08 X = 90 amnt Y3 3TNy, ok,
€) SorduSed FBREBRL BALWT IBROLIOE ROFTR, FOBOEEROO.
X 40 48 952 68 72
Y 20 24 28 36 52
9. 3Y50R DTWONE, 30 RRZITT ToAFT TORNTING.
RRE 2011| 2012 2013 | 2014| 2015| 2016| 2017
SN (000 Se. R99) | 65 | 77 | 80 | 70 | 85 | 90 | 100
B ©0% 203N ATHODOOT ;
a) TR, FNF ATITO_ 2,08 e Seadosd TS ODR), BROARD.

b) 2021 J¢ SRS SN SIS ant -
C) T I FF RPN, Jesm SO, 1O

10. 3R ﬁm%dm ﬁ%o@oocﬁ 2013 ng 2015 Se IR o w%dﬁodaﬁgt 0TIV WNE.
TR : 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
23;09 LUSITIR ;
w 1 1 220 9 ? 4
(000 v 50 80 2 330 50
11. de. 1,000 ¢ OR ORP FoBRCWET DPREAMT TO&FE 600N Q[T
3950m083. 26 Do VOVAFY, Feied EO0D0RY, T, ITORC DEOVROT BoToRd
B,
TR (VALY ) 20 25 30 35 40
&,0800300 (8. 1Y, )
2%, L aisRonn 23 26 30 35 42




